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- (Imark)
(b) Why i 1s an armno Ac1d descnbed as bemg amphoteric (2 marks)
2. The two —Sp}QI_jtjladxiblrd adalis bipunctata is a common beetle.
Complete the table:clasmfymg adalia bupunctata. ; (3 marks)

............ o e , Co]oopt(‘rq . bR e e

| |
’ !
i ................. .‘".T—.,‘,.i.":.”_.: ...... AR RPN ® » u.!i
L_ ~ : : ; | Coccinellidae |
- F\%M‘M‘_ﬁ ﬁ."ﬁ_"
A‘: a ;
i
WGEIUS :
o R e e e iy 4y
| |
! el
|
B S =IOl U Rebe Tt ha e o, eyl R S S S

021-Page 2 0fg



3. An‘;‘a'rrioeba does not have a cellulose wall. If an amoeba is pleved 10 a
solution which is less concentrated than its cytoplasm,what do vou think

yellow seeds.
Al F1 plants had sceds that were round and vellow,
results of test-crossing these 1°1 Plants
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will happen? Explain your answer. (3 marks)
4. Explain how the structure of the following relate to their funiion in
photosythesis. )
(a) Palisade mesophyll cells
(b) The xylem.
(c) Airspace in spongy mesophyll
(d) guard cells {4 1narks)
S.Complete the table below of organs and systems in a mam; -
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system ' _|nodes. 7= TR s —
I b . —
Excretacry ! ; N
system | T = ¥
‘ + N b " e
" |
| — fommee s
Reproductive I’ o
system ; 5
! i
] . T
i ! IS S ST
A V e i _E
. vlendel crosscd peas with rotind, green secds 10 dRes wis N ¢




e the name o

\ urtiu, © LM Ir"

abyeii
Why, in this ca

embryos be identzcal twins?

Se-will-the mdividyg

L oinrim
als who devel

- Umblical cord contains
fUnction of:

(i) The umblicg] arteries

S two Aiteries—pe o

e T L
e

3
i

(1i) The umblical vein
an T

T'he diagram below illustrates the induy
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ailed structure of a cell of the
adjecent capillary.
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(a) How is the structure of this cell ad

apted to absorly matorial
from the tubule?

ST

» {2maris)
(b) Describe the way in which glucose and wter o - SILEA S
- from the filtrate into the capillary. (% iiaris)

12.In dogs dark coat colour (D) is domin
hair (H) is

ant to albino {d) and short
dominant to long hair(
Lhnl-ad

k). These two genes are not

snxed. A purebred dark short haire

d dog is crossed with a
purebred albino long-haired dog. - - '

(e, What is the genotypeand phenotype of the Fi pappics (2 marks)

(L) Two of the Fi dogs are crossed and an F2 produced.Draw
punnet square to show the parental gametes and
and phenotypes of the offsprings.

What is the F2 ratio of phenotypes? :n

A A"

genotypes

“

&

(6'rzzarks)

13. A piece of thread was tied tightly round an animal pancreatic ducet.
The animal subsequently had difficulty inr digesting food but did
not get diabetes. Explaijn. ’ ‘ {Gmarks)
14.Explain why the tapeworm has the following special feutures as
a result of its parasitic way of life.
(a) No digestive system
(b) No means of locomotion
(c)Reduced Nervous system (3 marks)
15. Some white blood cells make antibodies. Tl
PErson to overcome an infection,such

process which stimulates the producti
how vaccination can be
influenza.

1ese can help a

as influenza.Vaccination is a
on of antibodies. Explain
used to make a person immune to the

(5 marks)
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’77. Describe the events that Charactery

8 Pllt?ﬁ}’lk@t@l]l,lria (PKU) is an Inherited ¢,

of a discontinous

Variation ang was originally Caused by,
Mutation which

Produced 4 Tecessive allele of

1(7) What IS meant by each of the folloyw

ing biologica]
(i) DJScomimous Variation

(i1) Mutation
(iii) Recessiye
v) " Gene

both girls
these hag PKU.Draw a suitab]e 8enetic diagram ¢q
man and hjig wife to Produce gop,
Suffer from PKU ang Some that (o not.

se the following Symbo]s: .

V= allele for not Suffering from pkyy _
n=allele for PKU

Se each Stage of MItosis.
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: R
o 7 () Will'suffer-from PKU
“E (2) Will be a boy ‘ (2marks)
| 19.(a) Describe the THREE ways by which smoking danages the lungs.
' R (3 marks)
(b) The figure below shows annual number of death from lung
cancer, other cancers, bronchitis and tuberculosis of the lungs
in men from 1916 to 1960.
300 “ K
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: 4916 1920 1925 1930 1835 1940 1945 1000 135
i yuars.
N = )
Compare the graphs for lung cancer and tuberculosis over this
Period. (3 mariks)
(c) What is the percentage increase in the annual number » f
deaths from lung cancer between 1940 and 19507 {2 maris)
(d) Suggest reasons for the pattern of changes shown i (1.
graphs for lung ¢ancer and tuberculosis. (2 marksj
"20. Describe the role of the mammalian liver in:--
(a) Protein metabolism (5 marks)
(b) Carbohydrates metabolism (5 marks)
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